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.Gr-ésé' D.omesﬁc Product when
~_ mé.asuzfed.on-the basis of the current
price is called :

() RealGDP

(B) Nominal GDP

_(C) Inflated GDP

(D) Deflated GDP

The gifference'betwe'len GDP at
market price and GDPl at'fact;jr cost
isknownas: o

| '(’A)_‘ | Nef Indirect taxes A

: (B) Nlet Income f.rttl)m.-ab.roac.i" |
(C) 'bér‘)riciatidn.-' S

(D) Capitalloss

When net income from abroad is

negative ?

(%) GNP>GDP
() GNP=GDP
(C) GNP<GDP -
(DY’ Noneofthese
N-atiOnaI [néo.l;ne referé to:
(A) GNP atmarketprice
(B) NNP at market price
(C) GNP atfactor cast

(D) NNPatfactorcast

OY —4A/31

(2)

5. Depreciation is the difference

betwegn‘:
(A) GDPandNDP
(B) GNPandNNP

(©). Both (A)and (B)

(D) GDPand GNP -

Value Added Method of GDP

* measurerentis also knoWn as!
(A) Productmethod
(B) Income method

) Expendituré method

(D)  Aliof these

" Nominal GDP divided by real GDP

isknownas:

. A GDP infiator. . ARSI A
- (B) GDP stabiliser

~(C) GDPdefiator

(D) "'None ofthese

.~ Which of the following is not included
“in National Income ?

(A} Pension

(B) 'Une.mploymentallowance- '

“(©) Gifts

(D) All of these

~ Contd.




9. Income from the saie_bfsecond hand '_ | (D) "Commission charged for sale

goods is a part of : - of second !h~an‘d goods
(A) GDP atmarketprice ~ 13, IfGNP at market price is Z 500, Net
(B} GNP at rﬁarket price indirect taxes is ¥ 60 and depfe- |

(C) NDP at market price ciation is Z 10. NNP at factor cost is

. : : equat to:
(D) None ofthese
‘. o ‘ (A) ?440_.
1Q. Per—capltaincome is equal to . o | B) 7490
-(Al «National. Income divided by ©) 2430
workmg pop‘u'[.afz_on ‘ (D) 2450

®) Ngtiq\nal!n‘cqr‘ne dividgd bytotal - 14, Expenditure method of éstnﬁatmg
population i , I National lncomedoes notlnclude

~ (C) National lncqn%edivided byself- (A). Government expend,ture

employed population ® Investment expenditure |

" (D) National Income divided by (C) Consumption expendlture

young population (D) Transfer expenditure

1_1' Transfetipayments are m(?IUded m. . 15. Ifawheat producerse!ls h[s wheat to
(A) Disposableiincome~ " " amil owner for z 100 and the mill
"~ (B) Pérsonal income -~ . - owner sell ﬂour.pf this ‘wheat to a

©) Private income backery owner for % 120 and the

) Alofth - backery owner sells bread of this flour
of these R o

(€ S ' for ¥ 150 during the same year, then

12. Which of the following isapért ofthe | n‘atiohal income will be equal fo:
Natidhai Income ? - ) . ' LA 2 37b -
(A)..Capitalgains ... ... ., (B) . 2150,

(B) [ncome from gambllng - _ (C) 7120 -
'(C) Ser\nces of housewwes ' (D) ¥ 100

ov_4Am1 (3) - O (Tumover)




16 GDP gapis the difference between: .

A

- ®

o (C) |
- ND"P |

(D)

Actual GDP and Potential GDP.

Nominal GDP and Real GDP

Norninal GDP* and Nominal

Real GDP and Real' NDP '

17 The Lorenz curve is a graphrcat'r

devrce to represent

*

- ®
©

| (D)-

Ifthe area between the Irne of equallty- .

Drstrrbutional rnequallty

Unemployment ieyei

‘Standard ofliving

'Rete'ofintletion o

" " ‘and the Lorenz curve rs ‘A’ and the

total area_under the line of equallty is

~"A+B’, then Gini coeffiGient is équal

to:

®
@
©

©

AA+B). -
(A+B)-A

B+(A+B)

A+(A+B)

o t9. Who eonducts.the periodical sample

22,

s‘urvey for estimating poverty line in

Indla ?

»

OY —4A/31 B

NSO

20.

21!

@)
- (C)-
D)

NSSO
CSO

Grovemmentiof-[ndia' R

requrred for rural areas for measunng -

poverty line?

A

What is the 'ave'rage'"cal.o’ries-_' .

2 400 calones per perSOn per:r SRR

. day
. (B)

©)
 day
D

resonsrb[e fori mcome fnequahty in .. -

@

India? . - RIE AN S
| Unequal distnbutlon of iand
(B) Gap betwéen rlch and poor
| (C) -‘Increase in popuiatron |
(D) Allofthese
Consumer Price_lndex'meaetrree the
- price of _
(A) . Goods onty
(B)‘ Both goods and servtcea
(‘C)‘ Ser\nces only '
(D) Noneofthese

(4).

’2;.1._00' Cg[qries,__._p,ef;'pﬁiﬁgp. per

day

2,800 calories per person p'e‘r_ -

i

3,200 caloriés per person per

day

“Which of the to'll'ewin'g factor is” .

_Cro_ntd.".. S




'23. Which year is'the re'eent base year -

of calculating Consumer Price Index a

- inindia?

o
- (B)

201_5 S
2004
2012

© |
2001

(D)

28,
A)

24. Whichofthe following states hasthe =

f:l\l {1

©) TamilNadu .

25,

_ 28

(B)

(D).

Bihar -
(8) Odisha .

Punjab - -~

t’ges’t per‘centage of poor in india 7
»

‘Sapply cr_eatés its own detnandf.. _

Who'said it?

(A) J.M.Keynes

' Atfred Marshall
(C) - Adam Smith- -
JBSay . ‘

Which of the folloWing is frue about

- 30,

the classncal quantlty theory of'_ '

money ?

(A) MV=PT

(B)‘a’JMPn:iVI; N o -"?;‘.;2“

(C) MT=PV
(D) MV=PT
- OY- 4ABT

(5)

27. Freshinvestment would be possible

o

29,
A
@
. (©)
(D)

D

- (C)

- (8)

- (©)

if Marginal Efficiency of Capitalis:

(A) Greate‘r'th'an tHe rate of ihtereet' :

' (B) Lessthan the rate of mterest
S (©
o [(D) Noneofthese

Is equalto the rate ofmterest | o

. Autonomous lnvestment IS

Responswe to lnterest rate -

Respons;ve toi lncome

®)
Responswe to both lncome and §

;o

‘ |nterest rate

r[ndependent of 'ihcome and :

Jnterest rate

'-Whlch of the followmg is correct ?

_APC+APS<1 o
APC+APS>1 .
APC+APS =1
APC +MPC=1 .

Apointbelowthe IS-Curve indicates :

»

_Excess demand in the goods
 market '

Excess demand in the money :
maket
Excess supp!y in the goods
. k market " .

Exces_s sqppty in the money
market | | |

(Turn over)




31.

32,

33,

- ©

34,

OY — 4A/31

A

(©)

equalin:

Ex-ante sense |
(B) Ex-poétsenéé
' PlannédéénSe~

None of these

(D)

For Linear consumption function

passing through the origin :

(A) APC > MPC

(B)
(C)

()

APC <MPC -
. APC = MPC
APC — MPC > 0

Which of the following is not a feature

of the classical economics ?.

Ay
(B)

Full employment
Price flexibility
Wage rigidity

(D) - Wage flexibility -

_ sgving is a function of ;
{A) Interé‘st. fate |

- ®

- (©)

Income
Both income and interest rate

(D)

rate

~ Saving and Investment are always

- 386.

‘According to classical economists,

Neither income nor interest

- (8)

35.

»

©
- ()

Th‘e economy is said to be_‘ ‘in‘_'
equiiibr‘ium when aggregate
|demand: |

Is Qreater than_»aggreg‘ate .
| supply N

(B) Isless than aggregate sup‘p!y
Is equal to égg_regate supply

Lr

None of these

Accbrdihg to Keynes, equality
between saving and investment is

brought about by the mechanism of -

- achangein:

(©) Price

&) Income

(B) Interestrate
o e ! -‘.";,A

(D) Exchangerate

37,

The general situdtion in a capitalist

economy is ‘one of under-employ-

ment. Whosaid it ? -

(A) J.A.Schumpeter

~(B)" DonPatinkin"_ - .

(C) A.C.Pigou
(D) J. M. Keynes
o Contd.




38. Ifthe marginal propensity to consume |

is equal to 0.8,. then the coefficient of -

multiplier is equalto :

3

A 4
® 2
© s
(D) 8
39, Marginal propensity to save is the
_ratioof: . . | |
-(A) Savings and income '-
' (B) Savings and Eﬁcr_'ease in
- income
(C) Increase in savings and
increase in income
'(D) Increase in savings and incorne _
40 Whén agglre_gate Enfzqmé inéreases;
R | aggregqteconsumpti;)n expenditure
incréés_e_s: | | |
(A) More ihan the increase in
- .inc‘ome | |
(B)'_' Bythe same amount
(C)” Less than the increase in
income 
(D) None of these

© ., OY-4A31

41.

42,

43;

44,

Marginal efficiency of an additional

capital good depends upon its :
(A) PrOlﬁpéctivé Ayield, -
(B) Supply price

(C) Both '(Aj and(B)

- (D) Noneof'thes_e

Accele}étbr refersto:’ -
(A) Oﬁtput capital ratio
(B) Output saving ratio
(C)“ | Capi_tai outbut ratio
(b) .Sayi.ng output r.aﬁo
Aggre'géte der‘na-m.dr wiIIr %hcrease

when there is an increasein :

(A :Consumption expenditure

(B) Investmentexpenditure

(C) éovernment'expenditure

(D) Aliofthese

Induced investment s -

(A) Interest elastic

(B) Price elastic

(C) Income elastic

(D) None of.these_

( Turh'over)




45

. _b’ecause of :°.

46,

_' consumptron functlon ’P

©
?. D)

@) In'elasﬁc' inves{ment function |
(B) EEastrc consumptlon functlon |
Both A) and (B) |

No_ne of these - ;

¢ -

Underemployment equiliorium exists

49.

Whic-h of the following does affect

'-V(AV) _Change rnwagerate S

B Change in rnterest rate

o)

L ar
e _of a country are ? 800 crores: and e
: (B) CO“SUmptlon rises but savrng

(C)
All of these

‘Change in rncome drstributron

©)

[CF

Planned saving is equal to
actualinvestment
Planned saving is equal to

 planned investment

Which ofrthe‘ following is a pre--

' requisite condition for working of the

- (©
(D)

)

If the worth of caprtal stock and output o

-'? 200 crores respectrvely, then '_

accelerator would be equa[to

(A) 050

@ o025

3 © % ._

48,
p atfaine'd vvh'en' ‘

OY 4A!31

(D) 4

investment

'(_B) Actuai saving is e"q'ual to

planned mvestment

©)

Equilibrium of an economy is .

| '(A) Actual savmg is equa[to actual'_" _

®

©

- multiplier?
" (A) Ful employment
LBy Involuntary unemployn%ent

Exrstence of excess_capacrty

'7 Both (Bjand(C)

" When incomeincreases ? -

' _(A) " Both corr:s'umption_a'nd saving

: '.,.-rrse L

P

- faHS -‘5'."-"; i |" ¥ ,4 (Ar

' rrses

Cfal

The market demand curve faced by |

a monopoly is :

' (A) Negative!y s[é;ﬁed T

(B) Positivelysloped -
Horizontalline

)

Verticalline

Consumptron falls but saving

| Both consumptron and savmg' -

~* Contd.




A monopoly firm is said to be in
. equilibrium when MC=MR and:

©* . (A): Slopeof MC <slope of MR

- '(B) " Siope of MC = slope of MR

: "'5'3.__ At eqL_ilib'rirum_A monopo_lyfprice .

'.-'(D) None ofthese

- (C) SIOpe of MC > s!0pe of MR

. (A) : _Exo_e'if.‘_d‘s'_;‘r‘n_‘arginal revenue

L@
- Q)

_ r'e\(enuef_; 3 r'are:
o | o o o ,'__(A)”:Efﬂc:[ent[yallocated
-When the marginal ¢ost increases, ... - ... -
e : : (B) Mlsallocated
-+ amonopoly firm : ©) Wasted
‘(‘A)__" Expands output ' | ' ‘(D.) “f'-'N'orie OFtheee
(B) Does nOtChange "30”‘?“? " 59, Whenamonopolist sells products at - *
- (c) . Contracts output ' ~ higher price in the home'rria_rk'etand
L | at a lower price in the international
(D) Reduces its pnce P _
S ) N market, it is called
Elas,.{ticityofdemand at:equ‘ilibriLim of (A) ,‘Thlrd degree prrce dISCl‘I- .
~amonopolyfirmis: mination |
(A_)_' Greater than unity ';(B)- Second degree prlce dlscrl-_ |
S . " mination ' |
(B) 'L?ﬁ_&,ﬁ%@,@%{%i e ~ (C). First deg.'ree_ price discri- .
| '.l(C)- Equai'tounity- | ~ minaon
(D) None ofthese (D) - Dumping
OY 4A/31 | ey - (Turn over)

Is less than marginal reverue

(D) Is equal ‘_to', half _of-marginal

Is equal to marginal revenue ~ -

58,

. 56, .

Whlch of the following is not a feature

) of the monopoly market ?

f(A) Smgleseller

| (B) Large numberof buyers

(C) Entry barner '

o -(D) Large number of seliers

S BT

o
®)

A monopoiy fi im does nothave a weil

defined :

Deman_d curve | _
Marginal rev,enoe curve
(C)

- Marginal costcurve

. Supply curve .

‘Resources in a monopoly. market -




- 60. Ifthe demand cur.vekis a downward

sloping straightline, then marginal

' revenue curve of the monopoly shall

. be:

(A) Lessthan hél@ay'between the

demand curve and the price’

axis

(B) "Halfway between the demand

- curve and the price axis

(C) Moré than halfway hetween the

demand curve'and the price
' .ax'is |
(b) None of these
61.. Kinked demand curve was intro-
duced by : R
(A R.L.Hall
(B) C.l Hitch
(C)" P. Sweezy
. (D) W.J.Boumol
62. Ifthere is'a kinklin thé demand curve,
| mérginal_revenueburVe is :
(A) Kinkedc;ne
(B) Continuous.
‘(C) Discontinuous
(D) Noneof these

© OY - 4A/31

63, According to W. J. Baumol, the goal
ofafimis: - |
_(A), P;'ofif maximisation - |

(B Toeam constantprofi
(9] Sales reve'hue.maximisation
(D) To_ eéfn con'stant revenue

64. A profit maximising firm, compared |
to a sales revnue maximising firm,
earns . _ " | |
(A) Same pllfofit"

(B) Lessprofit
(). M-'ore'p.roﬁt |
’(D) None of these | |

65 A sales revenue maximising firm,
compared toa proﬂf maximising fim,
_sellé'af: - .

(A) ‘A!‘ower price” "
(B): A higherprice

~ (C) Same price
(D) Noneofthese

66, A bitatéral monopoly is a market

structure cohsisﬁhg 'of :
(A) Two sellers
- (B) Two buyers .
(C) ‘One seller andone Nu‘;er.
(D) One seller arifi two buyers

Contci.




'67. Asituation is called Pareto efficient

if:

It is possible to make at least

one better off and no one worse

.‘off
(B)

'betteroff
(C) Itis not possible to make
' ‘'someone better off without
~ making anyone worse off

(D) None of these

68.
~ consumers is said to be efficient if
the marginel rate of substitution
between twogoods:
(A

®)

Is same for all consumers

consumer -
(C)
~ mers

- (D)

Is impossibte '_fer the consu-

Is zero forall eonsumefs
. 69
possmlhty frontier are pareto :
(A) Superior |
B) Efficient
(©)
(D) 'Op‘tima! '

Inferior -

OY ~ 4A/31

Itis possible to make everyone

AII pomts be!ow the production

The distribution of goods among

Differs from consumer to

(1)

70. There is efficiency in product mixif -

Marginal rate of substitution
"between two goods is same for

(A) -

- allconsumers

Margirial rate of substitution
between two mputs is same for

(B)

, all producers
(C) ' Marginal rate of substitution
. between two goods is equal to

marginal rate of technical

substitution betweentwo inputs -

‘Marginal rate of product
transformation is same as
marginal rate of substitution
between two goods

(D)

If the marginal rate of t-ech_nica[ ‘
substitution between two inputs be

~ equal for all commodities produced
by different firms, then there is :

7.

(A} Efficiency in consumption
: (B) . Efficiency in production =
(C) iEfﬁcieney.in pfdductmix A
(D) Noneofthese -

When indifference curves intersectin
an Edgeworth box, it indicates that :

@

72,

The equilibrium is Pareto
inefficient ‘

(B) The equilibrium is Pareto
efficient . '

(©)
1)

Some goods are inferior
There is externalities in
consumption

(Turn 6ver) _




73. Rate of product transformation refers

74,

: | OY —4A/31

- ©

- (©)

(D)

fo:

" (A) The rate at which a consumer

75. Aneconomy s efficient in-production

substitutes one commodity for

" theother

(B) The rat_é'which a producer

substitutes one input for the

-other

commoadity is sacrificed for the
{p'roduction - of another

commodity

(D) Noﬁ'e of these

The theory of seCo_nc[ best states that
if one or more of the first order

conditions for Pareto optimality

cannot be satisfied because of

institutional constraints, in general it
is ' | |
(A) Necéssary"that_ the remaining
conditions are satisfied 7

(B) Desirable that the remaining
conditions are satisfied
Neither = necessary nor
- desirable to satisfy the
_ rémaining conditions
Both necessary and desirable
that the remaining conditions

 are satisfied

The rate at Which one '

76.

78.

(12)

(B)

(©)

®)

1G)

77.
" ofthe business cycle ?
A
(®)

ifitis:

(A) Below the production possi-
bility curve - '
Aboﬁe the production possi-
'bi[ity curve _

-On the prdduct‘icjn. possibility
curve |

(D) .None of these’

‘The trade cycfé is purely a monetary |

phenomenoh" — who said it ?

(A) F.A. Hayek

J.A. ScHumpter '

(C)_ R G._Ha\hftreyr_
J.M. Kés;nes |

Which of the following is not a feature

Prosperity |

‘Recession * .
(C),
(D)

Recovery

Propensity

During recession, there is :

(A) Expansion of output

(B) Increase in employment .
(C) Contraction of output

(D) Increaseininvestment .

.Con;d.'




79.  When the economy is at peak du_rihg | 83..

the business cycle, it is called : -
(A) .Troughl

(B) Equilibrium

(C) Boom -

: (D) ._None of these

80.  Which of the following is externalto
the economic system to cause
- .business 6ycte? R
| (A) .Innovation
(B) O\)erksayllng |
: C) Over-in.vestment 7

(D) Revolution

‘81. According to Hayek, there is  85.

prosperity in the economy when
- marketinterest rate is :

(A Less than fhe natural interest
rate o
- (B) Equal td the nétural interest rate
(C) Greaterthanthe natural fﬁterest
-réte’ o '

(D) Nqneofthese N 86.

82. The innovation theory of business -
| cycleis ass_o_ciated with the hame of :
(A) J.M.Keynes
(B) "J.A. Schump'eter
(C) J. B. Clark
(D) A.Marshall

oY-4A/31. (13) -

84

Inflation refers to continuing :

(A) Decrease in general price level
(Bj" Increase in general price level
(C) Decrease inincome

(D) increase inincome
Inflafionary gap is defined as the
amount by which the aggregate-

‘demand ;

(A) Exceeds aggregate supply at
fullemployment level

®) - F?I_Is short of aggregate supply

(C) Exceeds total consumption’

(D) Exceedstotal in;vestmént

Which of the following factors is
responsible for demand pull

inflation ?

(A) Increase in wage rate

(B) Increaseintaxrate

(%)) increasein pubiic’expenditure

(D) Decrease in private expen-

diture

A cause ofinflation is :

(A) !néréase in money supply and
_ rise in prod‘ucﬁon _
(B) Increase in‘mohey supply and

fallin production '

(C) Increase in production

(D) Decreasein money supply

(Turnover) |




87.

8.

Inflation beneflts to whlch of the 91.

_ foIIowmg groups:

(A) - Pensmners

(B) Creditors
(©)
(D)

Debtors

Consumers

The trade-off between inflation

~and unemployrﬁent in represented

L ©
®)

89.

90.

oYy - 4A131

~ Which of the following is correct

""(C)‘ Rise in general price index

by:

(A)', Indifferenee curve

(E): Lorenz curve

Phillips curve

Lafer's curve

during inflation ?
(A) Risein rhoney supp.ly |

(B) Rise in budgetary deficit

| (D)-Rtseinincqme . o 94,

The long-run Phi[lip’s curveis :

: ',(_A) Downward sloping

(B) Vertical

(C) - Horizontal
D) Upward sloping
(14)

92,

©

93,

o

)

Who.opeir'ates monetary policy in
India 7 -
(A) Mln[stryof Fmance -

(B) SEBI

(C) RBI

(D)‘SBI B o
Which of.th'e .following-; is not an
objective of nte.n‘etarypotic_:y‘?

(A) Price stabifisation '

(B) Exchange rate stabilisation

Economic growth
‘(D) Poverty red uction

Fisical Pgolicy does not irtclud.e :
) |
(B) GST

Incometax

(C) Nant[ona[ insurance R

Interest rate stabll[satlon

The theory of comparative costs was

i rst propounded by:

(A) Dawd Rlcardo

(B)
(C)

Adam.Smith .

Bertil Ohlin | _

Eli Hecksher
Contd.




95.

96.

97,

98.

99.

Trade between two countries is

beneficial if cost ratios of goods are :
(A) Equal
(B) Decreasing

(C) Increasing

(D) Different

Expansionary monetary policy :

(A) Reduces interest rate
(B) ‘Increaséé interest rate
B (C) Reduces consumptfon

(D) Decreases investment

Contractionary fiscal policies lead

to:

.. (A) Risein demand fo_rmonéy

(B) Fallin demand for monéy
(C) Riseininterestrate.
(D) None of these'

Ex;ihangé rate is appreciated during :

(A) Expansionary nibnetary policy

- (B) Contractionaryfis'cal policy

(C) Contractionary monetary policy

_tD) None of these

The Balance of Payments always

balances in :

' (A) Accountmg sense

O 4Al31

(B) Realsense

(C) Economic sense

(D) Political sense

. Balance of trade account consists of

transactions relating to ;
(A) Onlygoods
'(B) - Only services

(C) Both goods and services

- (D) N'eithe_r goods nor services |

. Which 'of the . foliowing is not a

measure of correctlng deﬂcrt in

Balanceof Payments? ‘
(A) Devaluatlon

(B) ' .Dépreciation

©) Export-pfbmb_tion’

D) i’ncréése inimports

102. When the demand for forelgn'

_ currencues rlses the value of

domesttc currency in terms of forelgn

: currenc:es

(A) Faus |
(B) Rises

(C) | Does not change
(D) Noneofthese

(Turn over-)




103

- 104.

(©)

exchange rate determination ?
(A)
(B)

Mint Parity Theory .
Theory

(D) Allofthese :

Suppose¥ 70 is equal to $1.in 2018

and the price indices inIndia and

~ USAare 100. Ifin a later period price

o
- ®
(©

1056.

1086.

oY -

(B)

Which of the following is & theory of

Purchasing Power Parity

Balance of Payrnents Theory -

. 107.

index in India goes upto 300 and in

USA goes upto 150, then the new :

exchange rate for $1 is equal to:
. 35 o

%105

7140
(D) T 210
A rise in supply price of caoital :
(A) Increases MEC |
. Decreases MEC

©
(D)

Does not effect MEC

Decrease capital stock

valueof:

produced in a country wrthln a

year \

4AI31

108,

Gross Domestic Product refers to the

(16)

(D)

- A_produ_ced inacountrywith'rn a

o

@

®.

®)

L ©

(A‘)' AII g.oods and services L

- wrthm ayear

country within a year_’ o

All final goods and services

'Acoording‘tol_t(;eynee-.unemp[oy'rnent o

iri an economy is-attributed to:~ o
Deficiency in- aggregate

- oemand

“Defi crency in money supply

i

None of these__

Bo'tﬁ m'onetary and'ﬁé‘cai policies are N

effeétiVe inthé °

‘_C!assrcal range of the LM.' - o
' 'Z-‘ffunctron .7 R

Keynes;an'range of the' LM .
function ' | | '
.Intermedrate range of the LM _
funct[on ’_\

‘(D) AI[ofthese

. Contd

All"goods‘p'roduoed inacountry - R

All serv:ces produced ina

Deficiency'in agg'r'egate s'uppiy o ,‘




109. The ce-effcient of multiplier is

inversely related with ;
()
(B)
- consumg
(C)
©

Margmal propensuy to save

Margma! propensity

Margmal propensny to lmport
Both (A) and (C)

110:
- by C =100 + 0.8Y, then amount of
| ="'sawng atY = 1000 isequalto'

C(A) 900

(B) 500
| ©) 800

© 100
M.
| upon
PRV
e oAB)
(%)
- (D)

-Terms of trade

- Difference in costratio . .-
'Relatwe elasttcaty of demand
All of these '

~112:

Deval_uatlon will improve the Balance
- of Paymentsof a country if the sum

of elasticities of its demand for
lmports and exportsis :

(A) Equalto un_lty _
(B) Lessthan unity -
(C)' Greaterthan'unity o

(D) None of these

OY 4A/31

to'

If the consumption function is given

114,

The size of gams from trade depends '

115.

(17)

A13. The horizontal portion. of the LM

function is attributed to

(A) Perfectly elastic money supply
 function
(B) Perfectly melastlc money
supply function |
(©) Perfectly elastic Ii,q_uf‘dity -
| fun.‘cﬂon‘ |
(D). Perfectly inelastic quuidity‘

function

fthe saving and investmentfunctions
are giver by S=0.5Yand 1= 100+
0.4 Y, then equilibrium income is |
equalto : -

(A) 2,000

® 4000

© 5000 -

(D) 1,000

The aggregate suppiy curve after full
employmentis: *

(A)
(B)
()
(D)

Upward sloping
Horizontal line
DownWard sloping .

Vertical line

(Turn over)




116.

(%)

117.

High--unémpioyment and high

inf!ationisc’élled:' - ;

‘ (A) " Depression

(B) 'Recess_ioh'

: (C) Stagﬂation

Reflation

Investrhent in the Keynesian sense

“does notinclude :

. (A) Purchase of shares

- (B) “Construction of a new house

©)

Building of new maching

(D) - Addition to inventories

118.

- 119,

oY -

(C)

Which of the following statements is

‘correct ?

(A) Commercial banké print notes

(B) Commercidl banks control

credit

RBI lends money to public -

(D) Moneyis a unitof measurement -

The shape and po.'s‘,iti'on of the
consumption function depe-nd upon :
(A) MPC |
4A/31

(B) APC

(C) Both APC and MPC

' _.(D) ‘Neither APC nor MPC

120,

A competitive equilibrium is : -

' (A) Paretooptimal

(B) Pareto supl'érior

) (C)' Pareto inferior

121.

(D) None of these

If the national income is equal to

72,000 and the quantity of moneyris _
equal to X 500, then veiocity_ of

circulation of money will be :

@) 8

122.

®) 2
(C) 5
D) 4.
Dé‘preciatibn is"o’;.henmise' knéwn as:

(A) Capital loss

(B Capital consumption

" (18)

(C) Capital gain_
(D) Capital wastage

.Contd.‘




123. A type of unemployment m which 126. Relative lnequahty isAfound in:

workers are in between jobs or are
searching for new and better jobs is
called :

(A)  Frictional unemployment

- (B) ‘Cyclicalunemployment

124,

(C) ' Structural unemployment

(D) Tumn over unemployment

At an income ¥ 1,000, Rita spent

< 900. When her inconie rose to

- ¥2,000, she spent?'1,600, Hér

- ©

125.

marginat propensity to consume is

(A) 0.8

(B) 04
06

(D) 05

The theory of éecond best was
formalised by :

(A) Lipseyand _L_ar;éastei'

(B) Solowand Swan

- OY =

(C) Hawtrey énd Hayek
(D) Keynes and Kaldor

4A/31

127.

(B

128.

®
®

()

Underdeveloped countries
- Developed &ountries ‘
(C)

(D)

Developing cou.ntr.ies .
Allofthese

‘Monéy is- what m;méy does’, Wﬁo
said it ? .

(A) Robertson ,'
Crowther
F.A. Wa}\k_er
(D) Miton Friedman

In the ca{se of token money, its face

value :

(A ls equal to its intrinsic value

(B) Isgreaterthan its intrinsic value

(C) Isless than its intrinsic value

(D) Noneofthese

- 129.

- (B)

(18)-

(D),

Whi_ch of the fol‘lowihg fs a function of
money ? -

(A) Méhey is a ‘stand,érd of
 defeired payments

Monely is a medium’ o‘f'.
exchange - |

(C) | M'oﬁey is a store of value
All of these |

(Turn over)




© 130. Value of-money is: -

C 131

- 132.

' functlon of the commercial banks ?

133.

Inversely related to the price

level
Independent of the price level

(C)
(D)

~ index

If the reserve ratiois 0.2, thenmoney.

multpilier is,equalto :
(A 4
B8) 1

© 2
O 5

(A)
®
(C)
(D)

Acceptane of deposnts
Printing of notes
Advancing of loans

Transfer af funds

134,
(A) Directly related to the price level

' ,(B)'

Directly related. to the price '

Which of the following is not a"_

The power of the commercial bahks

to create credit is limited by : .

Cash reserve ratio

(A)" o
- (B) Volume of currency
' _'circulatibn | ‘
(©) 'Banking habits of the people
(D) AII of these
4/-\/31

oY -

in .

- 135.

136.

A
®)
©"
(D)

137.

L (20)

A)

(®)

(D)

Investment policy of the commercial *

-banks is not based on :

Principle of safety
(B)
€
(D)

Principle of profitability

| Prinaipl_e.éf liquidity -
Principle of public Welfare :

The fliabilities of the commerclal

banks does not mclude

(A)

(B)

(©)

Deposa_ts of the_pubhc' '
Reservefund | | B
Loans and advances by the
banks

(D) BI"S payable

'Of the followmg which is not the, - |

‘ functlon of Central Bank ? .

...........

Banker's bank
Lérideroflaat resort
Credit creation -
Anincrease in the bank rate :
(A) ' Increases the supply of credit i
Does not affect the suppl‘y'of
: cke_dit T e Tl
(C) Decreases tha supply of ¢redit

None of‘thesa .

_ Contd.




138,

. (B)

139,

To control credit; the Central Bank
,(A.). | Sells government securitigs
- rities.

Pur_c’;ha"s'esbilts ofexchanée _

Both (B)and (C) -

: 142, Which of the fo_llowing is not an .

Purchases g_ov_ernment _secu_- -

:Which of the following is a selective

- credtt contro! method of the Central _

| "-Bank’?

_.(A) Open market operatlon

@ Bankrate

o Vt(C) Moral s‘ua_smn . .

N (D) Variable c‘ash resente ratio

140.

The Balance Sheet ofa commermal '

‘ bank balances between

o)

a1,

@
_ (_B),

Deposﬂs and Ioans
Borrowmgs and Jnvestments
(C)‘ Assets and IIabllltleS
Al o_f theee.

Mo_ney market deal with |-

. (A) ~ Short-term Ie_ndings

: . _‘ (B). Long-terrn lendings

()" Medium-term lendings

OY

(D) Allofthese

4AI31

, instrument of capital market ?

(A) .'Debentures

(B) Bonds
(C) Shares -

- .(D) Call money

143.

144,

145.

(©)

The institutions involved in money

market does ‘n'ot'include g
V(A) ’Gomrner'cif.jz,l'ES}";\nks'j 'l
(B) Central Bank

| Stock_Exchange
(D) Non-Banking Financial Insti-

- tutions

The'iS curveshows the equilibrium

in the
A
(B)
(€)
(D)

Moneymarket i
Goods market '
.Labb‘urmarket '

Forelgn exchange market

'The relatronshrp between /income

and interest rate is shown by :

A) Phillips curve

IS curve

®)

{(C) LM curve

” (D) Both (B)and (C) -

(21).

* (Tumn over) : |




1486.

" (A) Upward sloping

The S curve s :

- (B) Downward sloping

147.

(C) Horizontal line
(D) Vetticalline

The perfeetly inelastic portion of the

LM function is called ;

) (A) Keynesian range

148.

oY -

(B) Neo-Keynesianrange '

}
(G) Classical range

(D) ' Neo-classical _rahge

The intersection between IS and LM
curves correspond to the equilibrium
in:

(A) Goods market ~

(B) Money‘marketﬂ‘

149.

150,

©

(C) Both(A)and (B) -
(D) Neither (A) nor (B)
Which of the folleWing factors shiftthe -

IS curve to the left 2.

(A) Increase in consumption

1 -

expenditure ‘
(B) lncreese in investment expen-
diture
Increasein Qoﬁemment expen; .

diture

' (D) Increase in tax rate

Fiscal policy is ineffective when LM

functionis

(A) Perfectlyinelastic

 (B) Perfectly elastic

(C) Relatively elastic

(D) Relatively inelastic -

4AI31

'(22)-
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